1. Fefofe @@ w=6 Qe w7 AW
sifafoe ferer 2
Ans: A *1g

2. HF9 I @D TG (& et ?
Ans: F@ﬁ‘@?ﬂ/ﬂ

3. Sz e gHeTs i Areril s (6 (iR
BB I ?
Ans: (I

4. TS, TN, TS ¢ ToAfma Tz
@0 @ SR 73 2

Ans: YO

5. W Hwe -9 499 FA9 [T @9
lessE (el 2
Ans: @ (N7 g
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1. Fafafed 37 g ‘3TeheR 3% el
ais?

Ans: T W

2. ooTd a3ehl 218 TSt ol Tu?
Ans: Rfgg 9607

3. qeg o quretshel TR TS faeetere
HET T T T2

Ans: <A

4. Hfedl, 3Raeh, HEYRd A SufugaTe
=ITel SIgeh! 37 TIE?
Ans: HHRI

5. fa@ ufw ute ‘&'-FR ure T A g
s g T
Ans: % Tiifers &g
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6. 57 O *17 =iz (Pitt’s India Act) ¥
A 217 Zefee 2
Ans: 1784

7. [EE @9 T OIS (@@l Wi
AT o 77 2
Ans: E@@F@ﬁ

8. 1885 A UG 24N @ [HHe
(I *1ZE S 2 ?
Ans: @2

9, @ A T IH! T Ao wF 3 2
Ans: 1930

10. 1938 el FL2ALY (Bl FLAT I
A b @M Tollfs fHifow 22

Ans: 2R

6. W?@W(Pitt’ s India Act), Tqeshl va
FAfufTEe T HieTH WUkl fore?
Ans: 1784

7. Fofafed $7 Ie aTeems YRAh eHy
FeToreRT STt wifs?

Ans: TS SRS

8. 1885 HICTHI Shiidah YW 3T1¥E¥M del Tide!
S TETHT Th! ToET?
Ans: ﬂ?ﬁf

9. TRTCHT il S HICTH SISl HId AT g
T w=?
Ans: 1930

10. 1938 HTETHT HeI9erd T SATLERH GHIY T%
S Fufa fFeifea va?

Ans: BRIU



11. &i9iZ5 (Granite) (&FIF 4@ ®&TF (rock)
ICETRE
Ans: T2 & (Igneous rock)

12. =78 TG (Hanging Valley) Fafafae
I =R 9B GhimeE Swige 2
Ans: fZ591% (Glacier)

13. TeTfafaa Swws W (Peak) w1 F 2
Ans: @3l

14. @656 (Hematite) (@ <& (Mineral)
sieeld @3 4T e

Ans: S[IS{&S #11% (Iron ore)

15. foeage (@ efee S (Chittaranjan
Locomotive Works) 21505 (e (ST SIS 2

Ans: 63 I
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11. TS (Granite) 1 Yehehl TIET&hI (rock)
IS0 77
Ans: 37T fIeT (Igneous rock)

12. T3 WWW (Hanging Valley),
freafafed & g/ sfaen 22

Ans: fgHaE (Glacier)

13. reTfidenl a9 e (Peak) %7 217
Ans: @reEg

14. fgumEEe (Hematite) 9 UhIehl @Sl
(Mineral) &7
Ans: 3% i@l (Iron ore)

15. facisA wiepmHifed | (Chittaranjan
Locomotive Works) %= STIeTehl A fSTeetm
FreIfeed B?

Ans: U=y aEfAE
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16. 2023 e SfZeTt U-19 T-20 et @i
el Sifere grafeeT 2

Ans: 7 Sife!

17. 2f*91% AT A= 0 F 2
Ans: SR7L

18. IO SIS FIFA Rt e o &l
B
Ans: &G

19. <@ (Caddie) *4(6 (Fd (T ACGK
To|fFw 2

Ans: 6T

20. T ToATH DI - IO (2
Ans: NI NepmlS

16. 2023 Frem™1 #igel U-19 T-20 fowa 9
M AT TR forin?
Ans: T ST

17. SAETE TSThl TSTETHIeh! 1 o 812
Ans: TEX

18. THatHl YU FIFA fava s g <orenl foa
A2

Ans: TSI

19. gt (Caddie) I8 1 Tl HT HHfchd §57
Ans: T

20. ST 3T ‘ShieToiell’ Shee] THEe g7
Ans: FHE HSHER



21. @ 3« (force) 7! ‘717\21%[ @ T89S e
@ TS Sl 0, OGS €3 T I 6 T 2

Ans: ©F (Weight)

22. ¥4 (Camphor)-F 6% T O AAfdere
T 7@ A Qe oifFTe €T F TN T2
Ans: TE#red (Sublimation)

23. AFe geTTE (Common Balance) (I (¥l
ferelz 2

Ans: &Y

24. SI *I&fSCS SloN@F & (Unit) 12
Ans: (e (Kelvin)

25, ik 919 (Spring Balance) NG IS I
Ao T2 23 2

Ans: ©I9 (Weight)
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21. A9 (force) R YealTe! 5 o e STEHT
STHET T, IS @l TRl oh W57

Ans: 4 (Weight)

22. &YX (Camphor)-TTrE Adreal (When heated)
T S ITh YT ISR oh TT5?
Ans: eI (Sublimation)

23. FYRUders= (Common Balance) 3 SIofiehl
ferr?

Ans: 9YH

24. SI faf¥mn e T (Unit) o 17
Ans: &l (Kelvin)

25. T&i71qen (Spring Balance) HIEHe &kl
A g7
Ans: 4 (Weight)

[Please Turn Over]
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26. 2GIEN (Potassium)-43 ITRS FCFS
(Chemical formula) 2

Ans: K

27. fElerRees S @A o561 dhed Swiggd ?
Ans: #IIM (Mercury)

28. 21 BiAl ¢ Taeor (N.T.P.) «F a9
(1 gm-mole) (! ST OIS (Volume) F©
ek
Ans: 22:4 B9

29. e @b Sfee wfKeE™r (Non-electrolyte)
AAvief 77 2

Ans: FEE B3¢ (Salt Solution)

30. [GIIN AFUIHEGT G199 (Solution) F
Q=2

Ans: @ (Violet)

26. WAIH  (Potassium) @1 TH™AH qA
(Chemical formula) % @17?

Ans: K

27. frgfeTiadere %9 e gl 3SR 817
Ans: (Mercury)

28. WA dI9HE (Temperature) 31 TeTeAT
(Pressure) 1 gram-mole ot TR (Gas) A=A
A (Volume) hid g7

Ans: 22-4 fe1ex

29, o1 TUsh MeggeH1 i TH-Seieriense (Non-
electrolyte) B18?
Ans: T[T e (Salt Solution)

30. drIfiRH e (Solution) T 4 87
Ans: ST (Violet)



31. ‘eqiE@ Ao’ (Oryza Sativa) WS
@ fAesePre (Scientific) w2

Ans: 49

32. 53 @I @36 GFIF (Unicellular) 215
T

Ans: %\91?& (Tapeworm)

33. e @« @ el @i e
(Synthesis) A2l ¢ ?

Ans: 3RS

34, THKE @B FO (@O (pair) eTal@
(Salivary gland) UGS ?

Ans: feqrsre!

35. 961K (Goitre) @19 o Tt =2
Ans: Z3olgLiEa@iCEs
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31. Oryza Sativa THafaf@ad g EEIEED
(scientific) =MH @17
Ans: 9

32. qc fouem 7= Bl =f1&l Wahrst (Unicellular)
it BreA?
Ans: 29 5 (Tapeworm)

33. iRl (cell) F 9FTeT HieHeTs HYeld
(Synthesis) T&S?

Ans: REEEATzeEE™

34. W‘x’lﬁwaﬁﬁ[?ﬁ@ (pair) LIRS (Salivary
glands) §97
Ans: T Sirer

35. 7T (Goitre) I & HRI §57?
Ans: BEWR grElfesH

[Please Turn Over]
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36. (FEIT ATPIACE 2w KT 21057 (71K Sy
oo WU @i AW (oft Tt 2R e

Ans: SGH (G o=F 3w

37. SRR (I TN TG 2SI
(Preamble)-3 (X NGOIgE & ‘AN{QCor®
(Socialist and Secular) *< 4 J& 1 22
Ans: 42

38. fifae wiE o 3fEE-9 IONE 1N e
Ans: (06 T OF 3G

39. e 5% @3CeE (National Stock
Exchange) (I S_Z ?

Ans: ¥

40. S @0 &4S™F F9 (Direct Tax) 7 ?
Ans: GST

(10)

36. 5 AIHRTS I Hells feehl it JRdra
HiGHTeTE 1 Teeh! TN 9E1?

Ans: WWWE@W

37. YR WfaUmenl 57 e S1e ST
(Preamble) ErHfRUeTaT A THTSIaTEl (Socialist and
Secular) FeSh! ST 7

Ans: 42

38. ‘suftRiaTeT dgeThEfea - H aduH A H A 2
Ans: @Eé@ % gfean

39. AT TIeh THHS (National Stock
Exchange) &gl ©?

Ans: o3

40. F = T@" R (Direct Tax) BIg?
Ans: GST



(11)

41. 8.65-47 (X F© (A5 FAET @9 (sum)
402-49 0.3-9F A 2(F ?
Ans: 111.95

42. % 47 % T FU, % IR T @
25 5519 Tt Soltg oz | 5/ % 1= (height)
(Ro1R)

Ans: 150

43. &ﬁ@ﬂ@@?(rectangular)mm (Iength)
2(E7 (breadth) f@awe| Mo cFawa1 (area)
338 3sHoE 2@, ©iF A (perimeter) 9?2
(EI=)

Ans: 78

44. et A1 (Simplify) 8

2> [3 23 _1(1 1

12:)3402)3 511 1
9 {4+ 3{8 2(4 8)”
1

Ans: 1—
3
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41. 8.65 G ST T SR (sum) 402 1 0.3
THHE g7
Ans: 111.95

42. e 5 AR, 5 S
25m IR Teft B 99 &9 S @M (height) S?
(in meters)

Ans: 150

43, 32 3T ST HEHa! (rectangular field)
g (length) =TS (breadth) AT I FeMeh
et (area) 338 sq.m. WU, TERARETT (perimeter)
id g7 (in meters)

Ans: 78

44. TT T (Simplify):

2> [3 203 .1(1 1
124]3492)3 5171 1

9 {4+ 3{8 2(4 8)”

1

Ans: 1—
3
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45. (I BRAl 20 =0T W™ SPACE (Principal+
Interest) 3 B 23 | SIS M A (rate of interest)
IO ?

Ans: 10

46. BIF I(FF F@oy (smallest) ‘Tf?‘?f (perfect
square) FRIG F© ?

Ans: 1024

47. &% T FICS I (downstream)
6 N6 1 km TW @R &FICed ZﬂWW (upstream)
O 6 km I | FICF 5ifedel o ([Ff/a00) 2
Ans: 2

48. A:B=3:4, B:C=6:5301, A:C-99
T F9 2
Ans: 9:10

49. ACE SR =GR SR SCAT 20% (@ |
TS SR IS O WA *Rop<l (percentage)
TS I ?

2
Ans: 16—
ns 3

(12)

45. ﬁ e 20 R ol (Principal+ Interest)

3 T ST A e It TS <X (rate of interest)
Hid §B7?
Ans: 10

46. TR 37k U TEAT AT G (smallest)
qU1 & (perfect square) AT B2
Ans: 1024

47. T3 AR YA (downstream) 6 THeHAT
1 kmw?ﬂﬁﬂ'ﬁ% (upstream) ®UIHT 6 km ST |
YRR HaTgah! Tfd fd (km/hr) ©?
Ans: 2

48. A:B=3:4,B:C=6:591 91, A:CH
T hid 817
Ans: 9:10

49. T SIS AR STHET =T 20% SEt
B TAHH STHSHT THH TS H=aT Uf e
(percentage) hd hH ©?

2
Ans: 16—
ns 3



(13)

50. sprre [geen /e el e 20% =e
(discount) #le3l T | F7TTe K& &l ey @ i
66 BF BT (discount) oIt | Ry e sifatel
e fos1 2 (BIIE)

Ans: 330

51. 2kg 250gm,0.72 3BT *o4] (percentage)
O ?

Ans: 3—

1
52. 3% GIFIF 60%, 90 BT 835%—6@ I 2
Ans: 125

53. w6 AT 91T (average) 9 @R Oy foafb
TRANF 91T (average) 4 T, €2 5 b MU 9IC
(average) 9?

Ans: 6

54, (@I I FH 10% € 20% =S (discount)
(?It5 (VB €21F o B (discount) (AT (o1
2IA) (rate of percentage)?

Ans: 28
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50. gaaHl ool ster s faw 20% ©2
(discount) UTE=3 | THIHT iteT STAT SR Tk SHeritel
Rs. 66 ©2 (discount) 9TT | 3k ToreTeht afewTor ki
fordl? (in Rupees)

Ans: 330

51. 2 kg 250 gms, 0.72 quintal | shfd Sfasrd
(percentage) &7

Ans: 3l
8

1
52. hfd ®9gH 60%, 90 TIThH! 835% I THH
712
Ans: 125

53. gzod &R 3fa (average) 9 31 fa=
iTerer Gt 3T (average) 4 81 ¥, @ 5 TR
3fd (average) Hid 5?

Ans: 6

54. R ToRdTel HHS 10% A 20% T2 (discount)
1T | HIE shid U9 (rate of percentage) T TS
Ans: 28

[Please Turn Over]
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55. @36 MeTE 9fre 1061 AECS 10 CIES
A S 1251 AG0e T 7T A161E 2 (FIEF9)

Ans: 12%
9

56. @0 IR (greatest) fof et ¢

i A é 2
9 ) 0.23 s 49 B (08)
25

Ans: ,|—
49

57. *[oi G QU (AT WG TR
eBIF 100 TR (&1 7 @3z oG 120 =6h (@ol =ecg
S | #FORT GHACTE AR 91G 5fetaa! (average
speed) o7 (120l

Ans: 109L
11

58. AfE 8% M7 YW 2 (rate of simple
interest) ¥ BIFIF 4 I%EH A (interest) 136 B
EIGK

Ans: 425

(14)

55, T3 I EI_S;]TH 109<1e1 10 second 993 &M,
12 SSIQT i 999 @S? (in seconds)

Ans: 12%
9

56. %1 =Tl =T Il (greatest):

i A é 2
9 ) 0.23 ’ 49 B (08)

25

Ans: ,|—
49

57. vdlsal THAUH BISEEE =] Seldrsi el
100 km/hr T S 3119 120 km/hr TfHT T |
TRt 319d T (average speed) fd 217 (km/hr)

Ans: 109i
11

58. aftie 8% W&l GT (simple interest) B 9
i TIIH! T (interest) 4 THAT Rs. 136 5?7

Ans: 425



(15)

59, @3 @36 S (fraction) Fefa e, %—6@
2
FCH Ol (T TGS (ratio) O ACH 6—471 -4 TS
(ratio) €3 2(J |

9

Ans: —
ns16

60. IGHT @I € A GHAFE S
(speed) ®J7IN® (ratio) 4 : 3 | 9B/T G2 I 4 96F
72 ff A2l (distance) AW, ©@ 3 O G
G2 @ 219 (distance) T2 (FW)

Ans: 72

61. @I @3 "W ReF, dfder ¢ =1
eIt 120 &« RIa3 & 15% Resis et #(te |
T 66 T« F& [ Ba 2, F© *Toik
(percentage) ey Reito wi@?

Ans: 30

62. STERWIN 25% I (AR | &I 7=z am
SR &) T 2440 SoIfEafEe qiice b, O s
FARIER /7ol el (percentage) F© 2 FAC
A2
Ans: 20
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59. T3 3{hehl 3TUM (ratio) % T B A

2_471 T 3 B 1 9T (fraction) e

9

Ans: —
ns16

60. T TR S E! TR @ R
3T (ratio) 4 : 3 | Ta TRISH JaT 4 SIU2MT 72 km
SIS Y 3 U] TSI THRIUH hid 99 (distance)
S57 (in km.)

Ans: 72

61. T foreimeram fosm, snforsa st st favrmn
120 591 BF TEd 15% Tomm steqed 71 Hie
66 ST ST Shell T HITeR! BT | 3hid I (percentage)
Srforse T =712
Ans: 30

62. TG (Gas) P T 25% TE TR B FA
IRERE] ST HigHTeh T T aXeR) I T8 TTHeh
TR i Uf¥Id (percentage) A T U572

Ans: 20

[Please Turn Over]
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63. < T I 12%% ST T B (rate
of simple interest) &g GIFl 4% B @G @G
B T FCE | 5IF T2 A4 A7 (interest) =
eE ff 1250 Bi &l 07 | €3 & 0 Bl 41
FANRCE ?

Ans: 2500

64. 150 37 @ @6 G 9o 70 0 @wel
(speed) B5TG1 200 TG 7Y @6 T (bridge)
ST FAS G0 F© FIFS AN #1492

Ans: 18

65. G0 FT1 4000 T EICER 190 T 4K
Wers T2 | 30 e 217 800 Tl STi@ BCET (91T | T
JC (SIS A O S Fomel 5eT(d ?
Ans: 200

66. 7,0,0, 5441 9f5 J2€7 (greatest) '€ Fuow
(smallest) 517 SIC&S 7471 (four digit number) {63
oM =1

Ans: 2493

(16)

63. TF ST A 12%% T TT (simple
interest rate) A1 T SUR feTX (I HIX TEah o |
4 99 qfs e (interest) fewemn faft =m=wm
Rs. 1,250 S1 fems | ™9 =ekitel id 91 3uR
fotaent faw?

Ans: 2500

64. 150m TH T3 &M 70 km/hr 3l AT
(speed) SITRT200m TTHI T3 g (bridge) TR hfd
HHI AD? (in seconds)

Ans: 18

65. TS HHHT 4000 SHTETE 190 feent et @t
foraim 1 30 e Tt 800 ST 7% STl T | STt e
WS IMEECTE el WM i fe T Ir?

Ans: 200

66. 7,0,0,5 ST T 3N (greatest) 3
AT M (smallest) TR 3 T 37 (four digit
number) sl TH=TAT shid §?

Ans: 2493



(17)

67. (0 STOCHFCA (rectangle)w (length) s
&% (breadth) 20% 3 31 23 | SNOCHFALT (FGHe]
(area) 9 *[OIR*¥[ (percentage) T 21 2

Ans: 36

68. 1+2+3+...+25 MYIFEF (number series)
Q9 (sum) F© ¢
Ans: 325

69. 45 o7 A% «af asfeFcaa (square)
v 2 A9 AT T 9 Jied Fo OIS
S FN9IE, T ©IF Sfet@9l (speed) 9 Ff/ae6i z7 2

Ans: 144

88
—_— =7
70. 999 99 x99= 1

Ans: Correct option has not been given. All will
get marks even not attempted.
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67. T3 3T (rectangle) I TS (length) 31
=rerE (breadth) 20% S TIREAT 9, TG &7 (area) -
1 hfd Ufd¥d (percentage) FH 557

Ans: 36

68. 1+2+3+...+25 G&AHRAS (number series)
IATHRST (sum) Shid g7
Ans: 325

69. TS IR (square) HEFH IR 3 45m H
B | IR G5 A AN fEe] T3 Wi HeTs shid 9w
e Afe 39kl 71fd (speed) 9 km/hr 9T?

Ans: 144

88
—_— =7
70. 999 99 x99 =7

Ans: Correct option has not been given. All will
get marks even not attempted.

[Please Turn Over]
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71. ACNE-9I7H9 3,7,29, 1131, BOIL-¢9
TS 22
Ans: 5,31, 19, 25

72. 1=9 @3 SLIP = 56 31, TASK = ¢
Ans: 51

73. @ ARG O SRR ‘pil gin jop’
‘apple is good’, ‘jop zon pin’ V(< ‘tree is tall” @<
‘pil man san’ (T ‘eat good fruit’ 2¢eT, ‘good’-9d
TS F 27

Ans: pil

74. @A TTISEIT GROWTH-&F HQPVUG
@R FOUR-& GNVQ 4! 27, €2 foaw S
BOOKWARM-G ! &1l 272

Ans: CNPJXZSL

75. (e TARRT ¢ Bl for 22 (RIS ¢ 2
Ans: 3T @R

(18)

71. ACNE=HIHgd3,7,29, 11 9CBOIL &I Hgd
E Y
Ans: 5,31,19,25

72. 1 =9 319 SLIP = 56 T« TASK = ?
Ans: 51

73. @H@fﬂ? HTOTHT “pil gin jop” I A “apple
is good”, “jop zon pin” I HIF “tree is tall” A “pil
man san” % A “eat good fruit” YA ¥4 “good” ol
e A2

Ans: pil

74. GROWTH 3§t HQPVUG 211 FOUR 3afg
GNVQ wifay, =& famd BOOKWARM <E
F AfEs?

Ans: CNPJXZSL

75. SfTsFuRithee ; =etd feds o S o< ;2

Ans: 3 ®RIHE



(19)

76. @ (odd) *f Hfzee F<Ee ¢
Ans: 1)

77. CX, FU, IR, ?, OL, RI— 24315 5% Bt
I P2
Ans: LO

78. 8,17,36,75, 7— 2HRI4S DT B I A= 2
Ans: 154

79. 5 Wi ey e ¢
5A6  10A4 15 A6

12 36
4 9 7

Ans: 63

L C oL

Tt oai f[Reead 763 I631 (i Sier g F1
a2
Ans: F
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76. TS (0dd) I=g fom=mms:
Ans: <3

77. CX,FU, IR, ?, OL, RI— ? gl TIHH 1 &
=Y
Ans: LO

78. 8,17, 36, 75, 7— ? Tl TIHT & F&5?
Ans: 154

79. <H T fos:
NANY 10 A\ 4 15 N\ 6
12 36
4 9 7
Ans: 63
80.

YRA ICEETR

m
v

it feuant fesrere 1 YR fasrrRr i ge4?
Ans: F

[Please Turn Over]
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81. e AfS I 15 /N sifow s fom
e gea 20 R Aea 7= o A 9o
10 5% ot | @319 Tex e 7 W e o
T 903 5 [ PIE TE) R 399 | AT € o+l
B Sy 77y o (fh) 2
Ans: 13

82. TRANSFERENCE *%{64 q¢f% o1 (letters)
ARG NH *weferd Ty @i %% (word) (o9
FA Q@ 2

Ans: FACTOR

83. (b FZE @6 52 T =g Wi @Iz | 9,
*ICE 18 ST SICS] SR | #7517 (AF 1395 Bl
02 | A AN (AF TS G (1% Nz 2

Ans: 20

84. P, Q,R, S, T €3 U~ WX 2T STl
1S, Q-9F (A ©IF | R wywi@ T € P-4 (AT
Tl | Q A QT 77 IR P AU It =13 |
e 7 (s faow oIt &2
Ans: P

(20)

81. TEA AR 15 km Uf¥em TUx, <9 Ufg H
20 km 7T 9fg &t <o afg et 10 km T | 39 9fS
I °fg 7 km T TS T 9fg Heh 5 km T | ST
B 376l hfd Sl ® (in km)?

Ans: 13

82. TRANSFERENCE ¥issahl a7t (letters ) fem@
a1 feuet % s (word) TR T Hiehead 2
Ans: FACTOR

83. U3 e TINTHT 52 S 3(qTah B | TH, 3319
9T 18 ST TG S | T3 ST SAqee 13th T
B | TE, T 91 hid 51 9FS B?

Ans: 20

84. P,Q.R, S, T 31 U H&H Ydehehl aoH fTA B |
S, Q 9T YT | R | T 21 P 9171 BeTahl | Q Wal =T
TETH B A P TeeT R 218 | Isteh! fegem
fedta @ A 5?2
Ans: P



85. QG FFAE MR IFGH ZEF JoE,
“fofe I A AT GG T FN | o

AT (F 2 2
Ans: AGTMIR

86. =& i (olleT 2@ (FCw ek 2 T 67
ez | A, B-43 i 32 563 ez | B, B9 TRus
¢ C-a9 ifneF I Witz | C, D-93 S =iz | F,
A-9F TRIMCE SR | 99919 D, F-43 e @R E,
B-43 AN O B AR 5106 | Qe C-9q 7N
& (R ?

Ans: EQF

87. Y = X-47 %4 S T R-97 74| Y, P43
A ifee | P33 R-9I 1 Y, S-93 (27 2
Ans: S99

88. va ey ifeirs Fowfe 9 siewt A, Tl
15 Seeia @ 06 It 71k =19 frerem (divisible) 2
193499239325991312939499392391

Ans: 5

(21)
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85. Tehol1 JEIeATs @ Tehsil Higeme] i,
gl T STeTRl SITeITeRl THAT BiteRl Ufd g gey
TRl ohl g7

Ans: TI8HEE (paternal aunt’s husband)

86. 6 ST HIH T3 el SR ¥R 5 qh
Tchehl B | A, B &1 T Tehehl B | B, E &I SeH1 211
CTIMaHR BIC, DA TH |F, AR TEA B 1 9GS
D, FE M E, B 97 €M 9Rad= 16 | 376 C i ggufe
I ol B?

Ans: E3HF

87. Y, X ® IAIS, R A TAI'Y, P 4 faarda |
P,RIBRIY, S I &l Y12
Ans: ‘aﬂﬁrwﬁ/vﬁs

88. TCTeh! AT AU hid 9 U Fichws, STHH!
1ot 31f ok ufs o H@meT 9 @ faurs (divisible)
T Afers?

193499239325991312939499392391
Ans: 5
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RB/CN_LC/KP(Prim)/2022

89. NATIONALISM *%f53 2fef =wa3ef
(vowe)-& 5 @ oitag (T (letter) =<1
#AfSZIfe (replaced) Fa1 T@ @R 2t Fgmad
(consonant)-&F 3% @17 wisw 3 @R dfezifere
(replaced) T4 2(+1, 9« Foffaa S (e Aew
7¢ff6 F =22
Ans: B

90. AN IS (alphabet) 2 (ATF 18
Jeefa Fifwesa AL (seventh) I @I 2
Ans: K

91.

Ans: 4

92, HF AT A ¢
(i) =S (i) =il (printing)
(iii) 9T (iv) el (v) Sl
Ans: (ii1), (1v), (v), (i1), (1)

(22)

89. NATIONALISM ¥ehl Tcdsh &R 991
(vowel) &8 &l fo dfset gofet 3= fem o1
TF A ot (consonant) <mE fow sAferent aofer
ST | TSIETe A 0T 7th TAHT §5?

Ans: B

90. SIS UM & <@ 18th Ui JoTE!
7th 3 % 712
Ans: K

91.

Ans: 4

92. Hiswh 3TIehA fomTTs :
() 9’ (i) ¥ (printing)
(ili) IE  (iv) 9 (v) om
Ans: (ii1), (1v), (v), (i1), (1)



93. IS Z&T A= S | S TN 26T eI (e
G2 0T 26 B O3 | Aol b (F 23 2
Ans: G

94, 25 SRR, 2008 GIRRIK ZC, 231 6, 2008
EREEGK
Ans: J4E

95, ¢ Ao ey et ¢

Ans: 573

96. Z=1,A=269R GOAT =653(T, FATI="?
Ans: 72

97. ‘¢ W+, ‘= W X, & @R
X + A
67x 119 +17-27+259="7
Ans: -3

(23) RB/CN_LC/KP(Prlm)/2022

93, AT SIUh! ST g | TWHT TR dfeHT | T
TTR] 9IS | ST 5Tkl T B2

Ans: afee BT (Sister’s Son)

94, 25th St 2008, 9HaR 9T, 2nd T4, 2008

96. Z =1, A =26, 31 GOAT = 65, FATI = ?
Ans: 72

97. ¢+a tﬂﬁ c+a’ ‘0 -q-le{ ‘xa’ O -q-ﬁ < 34-&1- cx’

M 4+ 9T
67x 119 +17-27+259="7
Ans: -3

[Please Turn Over]
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98. UNDERSTANDING *f53 9¢fesf& (letter) -
s (203 333fE FefSM=1 (alphabet) SR ATGICE
8 15 I G 270 T 0 (A oo a4
IaH 2

Ans: S

99. W& (17 A € B TG 97 @ Afeps e 2
[T, I T, AR T | 94, A 8 B I (&I
YR (S AR ?

Ans: 7R, Tag

100. 8, 17, 26, 35, ? — 2WE@LT BT B=
ACT ?
Ans: 44

(24)

98. UNDERSTANDING ¥&ehl auicls Ssiere
3TIST avt (alphabet) STERT WU 21 3T Fuiems
ThUTe TgU TR, Terufeare §th 3t FA 572

Ans: S

99. 33 fqudt A @11 B A9 qd @A afvem a%
319, A 3119 B A9 1 TS T Fehehl 17
Ans: TI&UT, IR

100. 8, 17,26, 35, 2 — ? Ta<o! TIHHT & 57
Ans: 44



